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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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emester B.E. Degree Examin; on, Feb./Mar. 2022
Computer Networkswd Security

-f!k'% 'f‘*%
avm% ‘* 'Max Marks: 100

a. Differentiate between : 3
() HTTPand FTP (i) SN (iii) UDP and TCP (10 Marks)
b. Explain Cookies and Web Cagh_ g thh diagram, ~ d (10 Marks)
% OR o~ N ;f 3 '
a. Describe in detail the s&y}ces offered by DNS and expiam DNS message format. (08 Marks)
b. Compare HITP and@MTP & (04 Marks)
¢. Define Socket. Benl‘oﬁstratc the working of IE =S (08 Marks)
Modillesz
a. With the % ~élp\&g.),f FSM, describe the two sfates of the sender side and one state of the receiver
side of % (10 Marks)
b. Wlthaeg,gat dlagram demonstratgj;workmg of Go-BAg:‘@\I protocol. (10 Marks)
' P OR
a. Describe TCP connection xpgpagement with help o (10 Marks)
b. Interpret the FSM to TC(F ‘cngestion control. (10 Marks)
ot 3 ¢
Module-
a. Explain the Implementﬁtlon of virtual c1rc TVICES in Corgpugg’ ‘Network. (07 Marks)
b. Explain the ﬂlrec'&%i’!‘chmg Techmqus (06 Marks)
c. Explain Distance xzector algorithm ysing (s (07 Marks)
e jﬁ_ 7 | .
a. Explainr" jkstra’s algorithm @h xample. & (10 Marks)
b. Expla;;n \;ﬁhous broadcast ro) thﬁ‘algonthms il (10 Marks)
¢ rf* Moduledl, 1ecA,.,
a. 4Pxplain Feistel struc ep%DES Algonthtg‘ (10 Marks)
b“ plain RSA A]gon“%;}gwnh an example (10 Marks)
po o X Or
a. Inthe Dlﬁ'ic Jz{pﬁman key exch%ﬁg protocol prove that the two keys ki and k; are equal.
%) (10 Marks)
b. Discuss the fé[’fowmg P
(i) Secure Hash Algonthmf’ (i) Firewalls. (10 Marks)
';-é.
’é%j 4 Module-S
a. Explain briefly how DIgS redirects a users request to a CDN server. (10 Marks)
b. With neat dlagragagxplam the naive-architecture for audio/video streaming,. (10 Marks)
OR
a. Write a short n%fes on:
(i) Netﬂuéw&co streaming platform (it) VOIP with Skype. (10 Marks)
b. With neﬂhdmgram explain the RTP header fields. (10 Marks)
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